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025100 |4 2 14500
025200 | ST 2 10000
035101 [#Ef: (dEsk) 3 12000
035102 [V (iE5) 2 12000
035200 [#:4TfE 2 10000
045101 |#HBFEH 2 10000
045102 |%RpH%: (ABO 2 10000
045103 =R #H: (30 2 10000
045104  |ZERlH: (B 2 10000
045105 |2ERl#%: (ED 2 10000
045106 |“=RlH: (b5 2 10000
045107 |%®pH: (EYD 2 10000
045108 |“#HRI#y (i) 2 10000
045109 [ZERI#HE: (Ji5) 2 10000
045110 [“#R}F%E () 2 10000
045111 | B} (FH 2 10000
045113 [“#RHH: (AR 2 10000
045114 [MARHEHA 2 10000
045116 | E 2 10000
045117 (Rl 5HARHE 2 10000
045118 |RiT#E 2 10000
045120 |HRMVER#EH 3 10000
045201 |fhE #H¢ 3 8000
045202 |i&zhil%: 3 8000
045300 |PGEEPREE 2 12000
045400 | A 0o F 3 12000
055101 |#1F (JLIBZERF) 2 12000
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055102 |B#i¥ (FEiEI%) 2 12000
055105 |#H#F (HIEZERR) 2 12000
055106 |#H¥F (HiEHE) 2 12000
055111 |fHiF (BHEFIEZED 2 12000
055300 |Hifi 2 12000
065100 |45 e 3 8000
085400 [HTEE (HF5EE L 3 11000
085400 |MF{E8E CEfFTHE 3 10000
086000 |E4E=Zy 3 8000
095400 |#flk 3 8000
125100 |T.F&H (MBA) 2 30000
125200 [AFLEF (MPAD 3 13000
125400 |[/RIFEH (MTA) 3 13000
135101 | 2R (&5 3 14500
135106 |ZA (HEEE) 3 14500
135107 |[ZAR (A 3 14500




